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0HQ\DWDNDQ� EDKZD� 7XJDV� $NKLU� LQL� DGDODK� KDVLO� NDU\D� VHQGLUL� GDQ� EXNDQ�

PHUXSDNDQ� GXSOLNDVL� VHEDJLDQ� DWDX� VHOXUXKQ\D� GDUL� KDVLO� NDU\D� RUDQJ� ODLQ� \DQJ�

SHUQDK�GLSXEOLNDVLNDQ�DWDX�\DQJ�VXGDK�SHUQDK�GLSDNDL�XQWXN�PHQGDSDWNDQ�JHODU�GL�

8QLYHUVLWDV� ODLQ�� NHFXDOL� SDGD� EDJLDQ� GLPDQD� VXPEHU� LQIRUPDVL� GLFDQWXPNDQ�

GHQJDQ�FDUD�UHIHUHQVL�\DQJ�VHPHVWLQ\D�

3HUQ\DWDDQ�LQL�GLEXDW�GHQJDQ�VHEHQDU�EHQDUQ\D�VHFDUD�VDGDU�GDQ�EHUWDQJJXQJ�MDZDE�

GDQ�VD\D�EHUVHGLD�PHQHULPD�VDQNVL�EHUXSD�SHPEDWDODQ�7XJDV�$NKLU�VD\D�DSDELOD�

WHUEXNWL�PHODNXNDQ�GXSOLNDVL�WHUKDGDS�7XJDV�$NKLU�\DQJ�VXGDK�DGD�
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